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Quiz – 5 - SOLUTION 

 
 
Problem: The cable BC carries a tension of 750 N. 
Calculate the moment of the force that the cable 
applies to the elbow about the point O.  
 
 
 
 
 
 
 
 
 
 
Solution: 
 

𝜆 𝐵𝐶 =
𝐵𝐶      

 𝐵𝐶       
=

−1.6𝑖 +  0.7 + 0.8 sin 30 𝑗 + (1.2 − 0.8 cos 30) 𝑘  

2.007
= −0.797𝑖 + 0.548𝑗 + 0.253𝑘     

 
   

𝑇  𝐵𝐶 = 𝑇𝐵𝐶𝜆 𝐵𝐶 =  750  −0.797𝑖 + 0.548𝑗 + 0.253𝑘   = −598𝑖 + 411𝑗 + 189.8𝑘    𝑁 

 

𝑟 𝑂𝐵 = 𝑟 𝐵 = 1.6𝑖 − 0.8 sin 30 𝑗 + 0.8 cos 30 𝑘  = 1.6𝑖 − 0.4𝑗 + 0.693𝑘    𝑚 
 

𝑀   𝑂 = 𝑟 × 𝐹 =  750  
𝑖 𝑗 𝑘   

1.6 −0.4 0.693
−0.797 0.548 0.253

 = −360.7𝑖 − 717.8𝑗 + 418.5𝑘    𝑁𝑚 

   
 


